Accessories

O00D00O0DO0 http:/sale.enproteko.com

& Dimensions / R~TH :

e MF- 01 Mounting Bracket / MF-01 [E]E %2

A
y

1

44.5

* PK-M001 Mounting Bracket / PK-M001 [E]E %8

/

4

2-R1.7

A\
f—26—+ | 41
29
16 6.5 33 12
= |$3£\\/_ T
J N
0| 37"
B
@ ol il ]
LT I3

2-

4

3.1

R2

11.5

18

3.4

4.5

: 41
%_f(: _:_I?JEC > ‘L‘N)‘ e
Nuw 4© mf -
33— 6| (45 o

42

31.4

>
Jii=]
N
)
8
7 | —2-02.4
N L1
© _@,/
' v IP—4RrR1.2
o |
© j
pun — | H c”I
1 1
-3
ik
N q
N ™ 4-
| 4-R1.1
5
4.5 15.5
16.6

le—26—+

18q14

| losuag ojoyd

Jlosuag ealy

s10suag aluosesn

10SUag
Kywixoad aAonpu|

J0Suag
Aywixoud aapoedes

Jajuno? J sawil

s1Y10

$9110SS999Y

Ril<o NN



1814

| losuag ojoyd

losuag ealy

sI0suag aluosesn

Josuag
Awixold aAianpu|

Josuag
Rywixoid anyoedes

l8juno? J sawil

s1Y10

>
(2]
(2]
@D
(73
173
o
=t
(1]
»

Bracket

& Dimensions / R~T[§ :

O00D00O0DO0 http:/sale.enproteko.com

Accessories

* OAP-M008 Mounting Bracket / OAP-MO00S[E] iE %2

6-M5x0.8
D & S S D
7.5
17.5
27.5 27.5
40 10 10 40
2010 6-04.3 &4l 10,_20 4
NI
—> 4— \ b- -4— [1 H
HT— T — — e s ' NLr—rfﬁ:
230 f 2
250
* OAP-M016 Mounting Bracket / OAP-MO016[E EE%2
4-0'8
J4.53
[Te]
i - - - - <
X LR R
oo \ 6-m5 oj1o] 7.5
50 340
29 12 | 4-04.3E3
/

340
390
410
* MT-8808 : PK3 Slit Mask (0 Filter)
/PK3{R#H (0F)
11.2
3.85_
21 |7 - "
~ i L
~ s L_"_?KOOFiIter
N ()

T i 1<O

—
0.2
3.85 |



O00D00O0DO0 http:/sale.enproteko.com

& Offers a wide range of connectors that comply with the reliability and application
= | [requirement in the field of industrial automation.
g | IREETEESLENEETSEENERE RN XHEEES -
& Connectors / JEIER
2 * M83R-2M-PVC
% 943
2 3x@1.0 Pinhole /#E1 %, 7.1 24.3 2M
S ( Cable(PVC)
» of = HHA— |
> g 3z SR o ]
3 MExN) 5.5 Pinhole base
g IHRETFLEE
o
" | * M83R-2M-PUR-BLK
s
2 3x@1.0 Pinhole /#4171, 71 243 043
g Cable
3 5.5 Pinhole base § % @WH Llﬁf JL
5 1PRET FLIEE
g M8x1.0
2 3 e M84R-PUR-2M
ig:
<
= 4x@1.0 Pinhole /4417, 71 24.3 237
§ Cable
g
g-: (5.6 Pinhole base
11RET FLEE
5 | « M83RSW-PUR-IMB
5
e 1.5 11.3 26.1
:2: 3x@1.0 Pin /{4t
o=
. + I ] | HHH]
a M8x1.0 @57hole /3 S < 043
s IM
Cable
1
% 3x@1.0 Pinhole /#R$1FL 7.1 24.3
o
: © Jhi——c

5.5 Pinhole base
1¥RETFLIE

____192_JE3]i{e)



O00D00O0DO0 http:/sale.enproteko.com

Accessories

®4.5 1)

(O BN(+)

* M624PF2 140 y
20.0 7.0 0475 g
4x(1.5 Pinhole /{RET#, 2.5 10.4 i ?Z[ble =
NER
| — - .
o ¢
E 'EI & - () I 3
- H 4+ —1 g
0 wn
(8.0 Pinhole base E %
1RETFLIEE 9
e M124R-PVC-2M —
2
-~ 43 ' M — | o
) Foolproof device __| 105 @
4-Pinhole HRFL | o |10 @4.5 Cable g
—= 1 = = — F| g
— Q
b 2
@15 :
g
w
e M124RL-PVC-2M 38.0 2
4x@1.5 Pinhole Foolproof device : @45 o [}
1R BREE 30.75 oM Cable % g
S — T E
i —) e | = ) — )
o [——) ¢ | /—— =
e g
ol = (=
| I iRy
&
3
g o145 =
=
8
* M123RL-PUR-5M-PNP g
=]
e M123RL-PUR-5M-NPN NPN-TYPE y
(1)Brown M12x1.0
1) O BN(+)
o
YE ¥ =3
s 4) O BK o
(4)Black (3)Blue GN%\\ @
3) O BUE)
38
215.0
el —— PNP-TYPE g
|
=

2M

Cable 4)

T on
L Q

YEYY  GN¥N
O BUG)

Ril<o EZEN



O00D00O0DO0 http:/sale.enproteko.com

e M125R-PUR-2M / M125R-PUR-5M
g 5-Pinhole Fool f devi 43 2M/SM
- oolprool device
/RS, FERiEE | 105 ‘ @5.0 Cable
[ L{): - / ))) — ]
3 |_ ﬂ]] 3 {{ ]
g |
w
2 @15
___ | <« RM124-PVC-2M
>
% | 14 e 31
2 04.2
= AXP1.0Pin | gg4 FST:H ~— 13 2M Cable
1R &t ' -
% - T -n:h]:*{————%————%—
%- Foolproof device 5-| \
o R E M12P1 @15 L @12 @9
2|« RMI125-PVC-2M
<
: 3
§; - 47.4
= 14— 31 @4.2
g 5X®1.0 Pin | 08.4 Esj::H —13—] 2M Cable
3 R &t
o = URUA
3 y R i) S o
§: Foolproof device M12P1 5_.| L_ \
< BFRERE @15 Lp12 @9
=
3
£ | +EE-1001
R _ 13 . 10.8_,_6
2.54 © o :Tﬁ
g - a o =
b o (==
N N
S @ LO.I
o «—
1
8« EE-1006
é' 11.9
11.22 _| NS
2l e 8.35 | 2.3 =z %
Al = o35 125 R0.64 Y 33 S =B
Taég@@ el ol & = 2

T i 1<O




000000000 http:/sale.enproteko.com

Inductive Proximity | Capacitive Proximity

11.2

Fiber Photo Sensor Area Sensor Ultrasonic Sensors Timer / Counter Others Accessories
Sensor Sensor -
=)
o
0 O
NS
e
omm
A"v a
A—v o~
- 0 ~
(= ° T " S
o . g
g ot [ #AnUlﬁ 1Y
e & _ __ _ 1” _ I |
o | ] [ |
(272 o)
T o S ]
| R & S S S S
T T 1
B e
. T T o G ]
A T o T 8 0 0 M
o) e 0 o T ar  w
= S 7 T T T Y o g N
i T T T AT 0 By 0 0 0 0 0 0 B
. T T o S
T o o o S Y ¥ 8 0
o T A T T T T T T T T
i Ay T e o T T T
T T o T 8 0 g
\¥ T o o T A | O © 0
T T o T | | O <
T T T T w  w | | S n < [To) Q A
anl R O ° n o = 0 3 _
. 7 T S o S S T T o < )
T o 2 o e e
T o S e e e
e e  r  wr  r w ot — (G D
i T e e T T C D —
T2 o o 2 A T AT
i s
e o $2323232323 33333333333
e e 33333333332 33323233333
) s o Ao A A A A ' W lev |¢|¢ )
7)) S o g 4 3232323332y
A ol 3232333) 3 23] 325 23X M)
Q e o —+ Ivutut vututut Iy 223252323 251
. = == . 3333333233 Re 232525232521
~ [ 322323331 3 343 410249
S I — . - 2333333333 33323332333
o = ( | 11 < 23232323232 3232323232
o 5 , . | 33333333333 33323283333
2 o 8 7% 77 33233333232 33333332333
o o o : ) 34 23232323232
v K 0001 23232232 2
e 5 .
O % 5 b
mm
A "t = ~
o
N
mm
=5

/RTH

L8 L

yee

PK3{m3%t F (90R)
I

1mensions

* CTR10 Reflectors / §8 5
* RR- 03-01 Reflectors / §R )5

Thickness 6 mm
* RR- 03 Reflectors / §§ &

* MT-88081

D




	bracket
	connectors
	reflectors



